



Wende die Umgruppierung an. Stelle sicher, dass deine Antwort kein unechter Bruch ist.

Antworten

1) $9\frac{4}{8} - 6\frac{6}{8} =$

2) $3\frac{1}{6} - 1\frac{3}{6} =$

1. _____

2. _____

3) $3\frac{1}{3} - 2\frac{2}{3} =$

4) $9\frac{2}{7} - 2\frac{3}{7} =$

3. _____

4. _____

5) $8\frac{1}{4} - 5\frac{2}{4} =$

6) $5\frac{2}{6} - 1\frac{3}{6} =$

5. _____

6. _____

7) $7\frac{1}{4} - 1\frac{2}{4} =$

8) $7\frac{2}{4} - 2\frac{3}{4} =$

7. _____

8. _____

9) $9\frac{4}{7} - 4\frac{5}{7} =$

10) $4\frac{1}{7} - 3\frac{5}{7} =$

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

11) $2\frac{1}{9} - 1\frac{4}{9} =$

12) $9\frac{1}{5} - 1\frac{2}{5} =$

13) $8\frac{1}{5} - 2\frac{3}{5} =$

14) $2\frac{3}{10} - 1\frac{4}{10} =$



Wende die Umgruppierung an. Stelle sicher, dass deine Antwort kein unechter Bruch ist.

$$\begin{aligned} 1) \quad 9\frac{4}{8} - 6\frac{6}{8} &= \\ 8\frac{12}{8} - 6\frac{6}{8} &= \frac{22}{8} \end{aligned}$$

$$\begin{aligned} 2) \quad 3\frac{1}{6} - 1\frac{3}{6} &= \\ 2\frac{7}{6} - 1\frac{3}{6} &= \frac{10}{6} \end{aligned}$$

$$\begin{aligned} 3) \quad 3\frac{1}{3} - 2\frac{2}{3} &= \\ 2\frac{4}{3} - 2\frac{2}{3} &= \frac{2}{3} \end{aligned}$$

$$\begin{aligned} 4) \quad 9\frac{2}{7} - 2\frac{3}{7} &= \\ 8\frac{9}{7} - 2\frac{3}{7} &= \frac{48}{7} \end{aligned}$$

$$\begin{aligned} 5) \quad 8\frac{1}{4} - 5\frac{2}{4} &= \\ 7\frac{5}{4} - 5\frac{2}{4} &= \frac{11}{4} \end{aligned}$$

$$\begin{aligned} 6) \quad 5\frac{2}{6} - 1\frac{3}{6} &= \\ 4\frac{8}{6} - 1\frac{3}{6} &= \frac{23}{6} \end{aligned}$$

$$\begin{aligned} 7) \quad 7\frac{1}{4} - 1\frac{2}{4} &= \\ 6\frac{5}{4} - 1\frac{2}{4} &= \frac{23}{4} \end{aligned}$$

$$\begin{aligned} 8) \quad 7\frac{2}{4} - 2\frac{3}{4} &= \\ 6\frac{6}{4} - 2\frac{3}{4} &= \frac{19}{4} \end{aligned}$$

$$\begin{aligned} 9) \quad 9\frac{4}{7} - 4\frac{5}{7} &= \\ 8\frac{11}{7} - 4\frac{5}{7} &= \frac{34}{7} \end{aligned}$$

$$\begin{aligned} 10) \quad 4\frac{1}{7} - 3\frac{5}{7} &= \\ 3\frac{8}{7} - 3\frac{5}{7} &= \frac{3}{7} \end{aligned}$$

$$\begin{aligned} 11) \quad 2\frac{1}{9} - 1\frac{4}{9} &= \\ 1\frac{10}{9} - 1\frac{4}{9} &= \frac{6}{9} \end{aligned}$$

$$\begin{aligned} 12) \quad 9\frac{1}{5} - 1\frac{2}{5} &= \\ 8\frac{6}{5} - 1\frac{2}{5} &= \frac{39}{5} \end{aligned}$$

$$\begin{aligned} 13) \quad 8\frac{1}{5} - 2\frac{3}{5} &= \\ 7\frac{6}{5} - 2\frac{3}{5} &= \frac{28}{5} \end{aligned}$$

$$\begin{aligned} 14) \quad 2\frac{3}{10} - 1\frac{4}{10} &= \\ 1\frac{13}{10} - 1\frac{4}{10} &= \frac{9}{10} \end{aligned}$$

Antworten

1. $\frac{22}{8}$
2. $\frac{10}{6}$
3. $\frac{2}{3}$
4. $\frac{48}{7}$
5. $\frac{11}{4}$
6. $\frac{23}{6}$
7. $\frac{23}{4}$
8. $\frac{19}{4}$
9. $\frac{34}{7}$
10. $\frac{3}{7}$
11. $\frac{6}{9}$
12. $\frac{39}{5}$
13. $\frac{28}{5}$
14. $\frac{9}{10}$



Wende die Umgruppierung an. Stelle sicher, dass deine Antwort kein unechter Bruch ist.

Antworten

$$\frac{10}{6}$$

$$\frac{2}{3}$$

$$\frac{23}{6}$$

$$\frac{23}{4}$$

$$\frac{19}{4}$$

$$\frac{11}{4}$$

$$\frac{34}{7}$$

$$\frac{22}{8}$$

$$\frac{6}{9}$$

$$\frac{3}{7}$$

$$\frac{39}{5}$$

$$\frac{48}{7}$$

1) $9\frac{4}{8} - 6\frac{6}{8} =$

2) $3\frac{1}{6} - 1\frac{3}{6} =$

3) $3\frac{1}{3} - 2\frac{2}{3} =$

4) $9\frac{2}{7} - 2\frac{3}{7} =$

5) $8\frac{1}{4} - 5\frac{2}{4} =$

6) $5\frac{2}{6} - 1\frac{3}{6} =$

7) $7\frac{1}{4} - 1\frac{2}{4} =$

8) $7\frac{2}{4} - 2\frac{3}{4} =$

9) $9\frac{4}{7} - 4\frac{5}{7} =$

10) $4\frac{1}{7} - 3\frac{5}{7} =$

11) $2\frac{1}{9} - 1\frac{4}{9} =$

12) $9\frac{1}{5} - 1\frac{2}{5} =$

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____